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nDafO{ ld= rf}8fO{ ld=
ulx/fO{ 
 ld=

1 zflt36\6f a8f g+= & 300 30 1 ९०००

2 a/d]nL6f]n a8f g+= ^ 265 30 0.5 ३९७५

4 sflnd+lGb/ a8f g+= ^ 400 30 1 १२०००

3 gsnaGbf a8f g+= ^ 300 30 0.5 ४५००

5 afx'g8fFuL a8f g+= $ 400 30 0.5 ६०००

6 ltl/+u a8f g+= ! 800 40 1 ३२०००

hDdf ६७४७५ ६५५२९१९

2
1 v/af/L÷w+u/] a:tL a8f g+= !$ / !% 200 20 0.7 २८००

2 kq;gaf/L -v08 !,

@ / #_
j8f g+= !$ 230 15 0.7 २४१५

3 d+unL j8f g+= !! 200 25 1 ५०००

hDdf १०२१५ ८११६७१

3

1 sfKtfgaf/L ÷e[s'6L 

If]q
d]rLgu/ g=kf=–# 700 45 1 ३१५००

2 w/w/] IF]q ;'s] lgGbf d]rLgu/ g=kf=–# 200 30 1 ६०००

3 w/w/ ÷dfn]wfk lgGbf d]rLgu/ g=kf=–# 600 50 1 ३००००

1 bf]sfg8fF8f d]rLgu/ g=kf=–# / * 600 50 1 ३००००

2 cfofaf/L÷lul/ufFp -

v08 !_
d]rLgu/ g=kf=– * 400 40 1 १६०००

3 cfofaf/L÷lul/ufFp -

v08 @_
d]rLgu/ g=kf=– * 300 40 1 १२०००

4 u+ufO{ufFp d]rLgu/ g=kf=– * 300 30 1 ९०००

1 ;]Gtf/L d]rL gu/ g=kf=— * 400 40 1 16000

2 d]r]ufFp d]rL gu/ g=kf=— * / !) 400 40 1 १६०००

3 hf]/l;dn d]rLgu/ g=kf=– & / !) 300 50 0.5 ७५००

4 /3'lj/af/L
d]rLgu/ g=kf=– &, !) / 

!%
400 30 1 १२०००

5 rf}w/L6f]n d]rL gu/ g=kf=— * 300 30 1 ९०००

6 3f]8fdf/f d]rLgu/ g=kf=– !% 175 40 0.5 ३५००

hDdf १९८५०० १५७७२५६२
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! yf]kn]lj/fg d]rL– (, a'4zfGtL – % 600 40 1 24000

@ kf}8]n 6f]n k'j{ pQ/ d]rL– (, a'4zfGtL – % 500 40 1 २००००

# RofNgL uFfp d]rL– (, a'4zfGtL – % 300 40 1 १२०००

hDdf ५६००० ४४४९६९०

s'n hDdf ?= ३३२१९० २७५८६८४२
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